| N of simulated tracks vs dxy |

TrackingParticles

Ratio

10*

10°

10?

T+ IIIII|

10

[
—a
=

e

........................................................................

..............

I | JLJLL N e— — ) |

0.951

—-25 20 15 10 -5 O 5 10 15 20 25

TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

Ratio

=
o
w

=
o
N

10

5 50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

N of simulated trac —— B

—— D

TrackingParticles

Ratio

—=— DOQM_TT ™
— D§M_FT_M

——D

RETT _URTG
KEIT"MODIF
KEITCowPtQ_ MODIF
FITLowPtT"MODIF

10*

10?

10

-
_|||| i .IIIIII|

K
KFITandPLeSs_MODIF

1.0

H||I|||||1I|II|||‘
H““m”””””

*%30

=20

~10 0 10

20 30
TP dz (cm)

Reconstructed TPS

Ratio

=
o
N

2030
TP dz (cm)



	Contents
	Page 1


